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P.S.M WORLD SCHOOL
WORKSHEET
CLASS - VIII
SUBJECT - ENGLISH

Que-1 Read the following passage and answer them carefully. (12)
1. Social networking implies the use of internet programs to make connections with friends, family, classmates,
customers and clients. Social networking can occur for social or business purposes through sites such as Facebook,
Twitter, LinkedIn, etc. Social networks are as old as the internet technology that was first developed in the 1960s.
After 2003, the social networks became very popular. Currently, internet users have more than two hundred social
networks to choose from.
2. Social networking has many advantages. The biggest advantage is that you can stay in touch with your friends
and family from all around the world. These social networks can be used to improve our social awareness. Students
can explore topics that they are interested in by using online social networking. This can be done by interacting with
people from different parts of the world. Teachers, students and professionals can also create discussion forums, or
write blogs and posts to explore different and wide-ranging topics.
3. Social networking takes place online where people meet and share ideas and experiences. Many companies use
social networks such as Twitter and Facebook to connect with customers and clients. This can create opportunities
for relationship-building, brand-building, publicity and promotions.
4. However, there are several disadvantages of social networking sites as well. Cybercrime! and cyber bullying?
have increased because it is hard to identify the offender and it is almost impossible to keep full-time surveillance in
such a wide network. As people spend more time on social networking sites, they experience less face-to-face
interaction which also makes them more dependent on devices. Addiction to online networking is yet another
disadvantage. Fifty per cent of people between the age of 25 and 35 years admitted that they are so attached to
social networks that they even use them during working hour.
(a) What are the three chief uses of social networking?
(b) When did social networking take oft?
(c) Write a statement from the passage that shows the growing popularity of the internet.
(d) How does social networking impact learning?
() How do companies benefit from social networking?
(f) How do social networking sites increase crime?
(g) What does social networking makes us dependent on?
(h) Pick antonyms of the words given below from the passage.
(i1) worsen (para 2)
(ii1) narrow (para 2)
(iv) separate (para 3)
(V) privacy (para 3)
Que-2. (10)
This is a great lesson for all of us to learn, that in all matters the two extremes are alike. The extreme positive and
the extreme negative are always similar. When the vibrations of light are too slow we do not see them, nor do we
see them when they are too rapid. So is with sound; when very low in pitch we do not hear it, when very high we do
not hear it either. Of like nature is the difference between resistance and non-resistance. One man does not resist
because he is weak, lazy and cannot; because he will not; the other man knows that he can strike an irresistible blow
if he likes; yet he not only does not strike, but blesses his enemies. The one who from weakness resists not commits

a sin, and as such cannot receive any benefit from the non-resistance, while the other would commit a sin by
offering resistance. — Swami Vivekananda



Answer the following questions:-

(1) “eeennnnnn in all matters two extremes are alike”, means:
(1) Powerful men always gain success.
(i1) All human beings are of same characters.
(1i1) Boys and girls are equally talented.
(iv) The extreme positive and the extreme negative are alike.
(2) When the sound is in low pitch:
(1) we fail to hear it
(i1) we can hear it easily
(1i1) it pleases us
(iv) we feel dizzy
(3) Too rapid vibrations of light:
(1) can be easily seen
(i1) cannot be seen
(ii1) should be enjoyed
(iv) both (2) and (3) are correct
(4) The one who resists is different from a man who does not resist, because of his:
(1) nature
(i1) weakness
(1i1) strength
(iv) laziness
(5) The word ‘irresistible’ means:
(1) tied so closely that it cannot be separated
(i1) so strong that it cannot be stopped
(ii1) that cannot be changed back
(iv) so valuable that it cannot be replaced

Ques. 3 Fill in the blanks with— little, a little, the little, few, a few, the few. (6)
1) Can you give me more coffee?
2) Books we had were very interesting.
3) There are only members in the meeting.
4) money my mother gave me, was not enough
5) towns in our country are. majority are dirty.
6) Gautam is not very popular in college. He has friends.

Ques. 4 Write a letter to your friends inviting for Annual day program in your school. (5)

Ques. 5 What is Good Behaviour? Is it important for human being? Draft some line on importance of Good

Behaviour. (5)
Ques. 6 Your school is planning to take you to for movie '"Rocketry'. Write a notice for telling about this in your
class on Sunday G3S cinema.You are head boy / girl of class. ®))
Ques. 7 Complete the following sentence with suitable WH family words. (6)

1) is the pretty girl ?

1) did you call on last evening ?

1i1) is the office from your home ?



Ques

Ques

Ques

Ques
1.

1ii.
1v.

Ques

Ques

Ques
Ques

1v) book is this ?

V) is your name ?
vi) are you from ?
. 8 Arrange the following words into a meaningful sentence. (6)

a)bare/its/rocky/and/surface/is
b)Famous/is/Bihu/festival/Assamese/a.
c¢)Celebrated/April/is/the/month/in/of/it/in/people/all
d)religions/the/celebrations/from/part/take gained by/the
e)great/Ashoka/peace/war/what/lost by/he

f)very sad/war/the/he/destruction/to/see/was in/Kalinga/tremendous/a

. 9 Match the following. (6)
1) postman brought a letter a) milk
i1) vendor sell b) Drive
iii) book is on the c) Mangoes
iv) soup is delicious. d) table
v) spilt the e) chicken
vi) don't drink and f) Letter

. 10 Fill in the blanks with correct from of verb. (6)
1)1 a science graduate.
) 1 not feeling well this morning.
1i1) The sun _ is very bright this afternoon.
1v) Karishma a beautiful actress.
v) Ravi and Ram present today
vi) Ram a good swimmer.

. 11 Answer the following questions (10)
Who were Sue and Johnsy how did they become friends?
Why do you think Sadako's story is important for so many people? Her story encourages and inspire in what
ways?
George had his own reason for being prompt. Identity it.
How is the threat of Global Warming very real in Antarctica?
How did Sadako spend her time at the hospital?

. 12 Convert into the past. (6)
a) Play d) Eat
b) Teach e) Drink
¢) Run f) Eat

. 13 Make the sentences from the following words. (6)
1) Confectioner 1v) Supper
i1) Deploy v) Trends
iii) Strategy vi) Respect

. 14 What is noun? Also write the kinds of noun with suitable example. ®))

. 15 What are Pronoun and Adjective? Write the three kinds of both with example. (6)



P.S.M WORLD SCHOOL

WORKSHEET
CLASS - VIII
SUBJECT — MATHS
Q1. Tick the correct answer: 1x10=10
a. 14+3+5+7+............ +49 should be equal to
1. 492 iil. 247
il. 252 iv. None of these
b. The value of 453- 65°+ 207 is
1. 175500. iit. -175500
ii. 170000. iv. -170000
c. The value of x + x(x)*when x=2 is
i. 10. iii. 18
ii. 16. iv. 36
d. The simple interest on a certain sum for 6 years at 14% per annum is ¥470.40. The sum is
i. %720 iii. 480
ii. %650 iv. 3560
e. The Cartesian plane has ..... axes.
1. One ii1. Three
ii. Two iv. No
f. (X,Y) are known as the ........ of the points.
1. Ordinate iii. Coordinates
ii. X-axis iv. Abscissa
g. The sum of money borrowed by X is called
1. Amount iii. Rate
ii. Principal iv. Interest
h. Dividend = divisor x Quotient + .......
i. Rate iii. Remainder
ii. Ratio iv. Real no.
1. A number ending in odd number of zeroes is never be a perfect......
i. Square iii. Ratio
ii. Cube iv. number
J.  The Cube of an odd natural number is
i. Odd iii. Natural
ii. Even iv. Prime
Q2. Fill in the blanks: 1x10=10
1. Cubes of all negative integers are ............
ii. Square number can have only ........ number zeroes at the end.
iil. The Quotient when -56 mnp? divided by 8mnp is ......
1v. If (x — 2) 1s one factor of x>-ax-6=0, then a is .........
V. C.I. and S.I. for one year are ........
Vi. When C.P. > S.P., then there is always a .......
vii.  In case of C.I. the principal ....... every year.
viii.  The point where these two axes intersect is called the ..........
1X. The coordinate axes are mutually ............

X. IF 50% Ofx is 50 then x will be ......
Q3. Solve any 10 questions from the following questions: 3x10=30

1. Riya took a loan of 24000 from a bank at 7% per annum and let it to ritika for 2 years at 10% p.a. how much
did riya gain?



2. Make a table of value x and y and use it to draw the graph of the relationship:
a. Y=4x
3. Surface area of a cube is equal to 294 m?. Find the volume of the cube.

4. Find the squares of the following numbers using diagonal method:

a. 448
b. 84
. . 25 x t—*
5. Sll’l’lpllfy . m
6. Divide:

a. -72x?y?z*> by -12xyz
b. -84mnp? by 7mnp

7. Find the interest paid by a borrower after a period of three years on a loan of 32000 at 10% per annum, interest
being compounded annually.

8. Find the amount and the compound interest on ¥12000for 3 years at 6%per annum.

9. On a graph paper draw the co-ordinates axes XOX’ and YOY’ and plot each of the following points:
A(6,3), B2, -4), C(-3,7), D(-5,-4), E(8,0), F(-4,0)

10. Identify the y co-ordinate of the following points:
G(-3,0), H(-3,4), 1(8,-2), J(5,-7), K(0,-3), L(0,-4)

11. Find whether or not the second polynomial is a factor of the first.

a. x2-4x+4,x-2
b. x?-5x+ 84, x+7

12. The product of two numbers is 10000. If one number is 16 times the other, find the numbers.

Q4. Find the square root of each of the following numbers by using division method:
1. 82264900
il. 20657025

Q5. Simplify: 3636.09 + 2862.25
3636.09 — 2862.25

Q6. Calculatethe compound interest and amount, if the interest is compounded annually and its principal =
%7000, time=3/2years, R = 12% per annum.

Q7. At what rate percent per annum. Will a sum of 2000 amount to ¥2205 in 2 years, compounded annually?
Q8. Divide:

a. 12x%y - 9xy + 6xy? by 3xy
b. 6x%y - 7xy? - 10xy by 1/2 xy

Q0. Find the smallest number which must be added to the following numbers so as to make them perfect square:

1. 18265
1i. 16160

Q10. Prove that if a number is doubled then its cube is 8 times the cube of the given number.
Ql1. If x/y = (-1/3)3 = (2/3)™, find the value of:
1. XY)!



ii. XY +Y/X)!
Q12. Find the square of the following numbers using the identity (a + b)> = a* + 2ab + b2
i. 102
ii. 305
Q13. The population of a town is 12000 and it increases at the rate of 10% per annum, find the population of this
town after 3 years.
Q14. The side of an equilateral triangle 4cm, its perimeter is 12cm.
Plot a graph of perimeter against length of side, with the side increasing at interval of 2cm. Show on your graph

(1) What will the perimeter be, when rhe side is 7cm.
(i)  What will the side be, when the perimeter is 15 cm.

QI15. Tavishi is one of the beat students. Her predi ted marks in class VIII and her actual marks are shown in the
graph.

The dotted lines represent the predicted marks and the solid line represents the actual marks.

1. In which subjects her marks are equal.

ii. In which subjects her actual and predicted marks are equal.

iil. In which subjects she got more marks than the predicted marks.

1v. In which subjectsher marks were less than the predicted

V. In which Subject the difference between the actual and predicted marks is the maximum.

Q16. Find compound interest on X10000 for 12 month at 10% per annum, if the interest is compounded

1. Half yearly
il. Annually
1il. Quarterly
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CLASS - VIII
SUBJECT — COMPUTER

Q1. Multiple choice questions:

1.
a)

i.
a)

1ii.
a)

1v.
a)

V.

a)

A Table of Authorities is like a Table of
Bibliography b) Contents

We can draw any object or in Flash.
Property b) Oval

means Beginners All-purpose Symbolic Instruction Code.

BASICS b) BASED
VISUAL BASIC is a
DOS b) BASIC

There are types of hotspots in Dreamweaver.

Five b) Six

Q2. Write full forms of the followings.

1.

CSS ii. SWF

Q3. Write as per command:

1.
ii.
1il.

Shortcut key for inserting a footnote is

¢) Hyperlink
¢) Stage

c) BASS

and event-driven programming language.

¢) Visual

¢) One

Shortcut key for inserting an endnote is
Shortcut key to select the whole document

Q4. Fill in the blanks:

1.

11.
1i1.
1v.
V.
vi.
Vii.
viii.
1X.
X.

GUI is the short form for .

is used to edit the text.
Workstations are commonly connected to a
HTML has a number of tags to create .
Microsoft Word 2013 automatically updates the
<img> tag is used to include an
We can create a table of contents
We can also change the order of

numbers.

is need to display fixed text on the forrn of remark.

get spread on a network easily.

Q5. State True or False:

i.

il.
ii.
1v.

V.
Vi.
Vii.
Viil.
1X.
X.

The current version of HTML is HTML 4.0
A text field is used for existing text.
The pointer is not a control.

In Bus Topology all the computers can communicate with each other without having to go through

the server.

HTML is a formal recommendation by the World Wide Web.

<A> tag is used to create buttons.

A bibliography is a numbered label.

Internet is a revolution for the computer world.

MAN stands for Metro Area Network.

The project window is also called the Project Explorer.

Q6. Answer the following questions. (Any 10)

1.
ii.
iii.
1v.
V.
Vi.
Vil.
Viil.
1X.
X.
XI.
Xil.

Explain LAN with diagram.

Explain MAN with diagram.

Explain WAN with diagram.

Define different Data types available in MS Access.
What is internet?

Define Primary Key.

What is Photoshop?

Write about Ethernet cable.

Write input devices and output devices.
Differentiate between a mobile and a laptop.
What is hardware?

What are the advantages of networking? Write any two.

d) Ribbon
d) Shape
d) BASIC
d) C++

d) Four

10

10

20



P.S.M WORLD SCHOOL
WORKSHEET
CLASS - V11
SUBJECT - SCIENCE

Q.1 Tick the correct answer of the followings:

1.

1.

iii.

1v.

vi.

Vil.

Viii.

1X.

Which gives us pollution free environment on burning?

a. Wood c. Kerosene
b. Cow dung cakes. d. Biogas
Which of these is multicellular?
a. Paramecium c. Amoeba
b. Bacteria d. Mushroom
The S.I unit of force is
a. Kilogram c. Gram
b. Newton d. None of these
Current is the flow of
a. Electrons c. Protons
b. Neutrons d. Charge
Chipko movement
a. Extraction of oil c. Felling of trees in Uttarakhand
b. Growing of trees d. Global warming
Forests have suffered depletion due to
a. Increasing in demand c. Garbage
b. Decreasing in demand d. Soil erosion
Which one of the conductor
a. Brass c. Plastic
b. Mica d. Leather
A stone thrown with a catapult(gulel) falls back on the ground because
a. The muscles apply force c. The stone applies force
b. The earth exerts force d. The catapult exerts force
Chlorophyll is found in
a. Leucoplast c. Chloroplast
b. Chromoplast d. Cetrosome
Coal mainly contains
a. Carbon c. Carbon, hydrogen and nitrogen
b. Nitrogen and sulphur d. None of these
Q2. Fill in the blanks:
A better fuel leaves ...... residue after combustion.
A fuel having very ........ ignition temperature is dangerous to store.
Energy is produced in .......
An ........... is a cell that can be seen without a microscope.
An object slow down when force os applied on it in the ......... direction.
1 Kilogram force is equal to .......... Newtons .
An electric current pass through some liquids called ....
Alcohol is a ..........
Overgrazing leads to ............
More and more .......... is required due to population explosion.

Tr @ e ao o

Q3. Write T for true and F for false statements.

1.
1l.

ZWe should not manage waste.
Deforestation causes change in the rainfall pattern.

1x10=10

1x10=10



iii.  Petrol is a good conductor of electricity.

1v. Distilled water is an insulator
V. Force always has a particular direction.
vi.  Gravity is a contact force.

vii.  All animals cells are spherical or oval in shape while plant cells are rectangular.
viii.  The outermost covering in an animal cell is called cell wall.

1X. Air is necessary for combustion.
X. Coal is a fuel on burning produce sulphur dioxide which is cause air pollution.
Q4. Define the following terms:
a. Fossil fuels f. Non contact force
b. Combustion g. Electrolytic
c. Cell membrane h. Deforestation
d. Nucleus 1. Afforestation
e. Gravitational force j. Electrolysis
Q5. Match the following:
a. Magnesium ribbon. Low temperature
b. Deforestation Gravitational force
c. Fossil fuels Rapid combustion
d. Cell Overgrazing
e. Force is measured in Newton
f. Pulling a drawer out From a table Paper
g. Digestion of food. Manure
h. An apple falls on Due to Contact force
1.  Wood. Petrol
j. Biogas Robert hooke
Q6. Write answer of the following question: (any 5)
1. What is nucleus and what is its function?
11. Write difference between friction and gravity.
1. Write three uses of petroleum.
iv.  Differentiate between conductor and insulator.
V. Write three important uses of forests.
Vi. Write Differentiate between plant cell and Animal cell.

vii.  What are fossil fuels? How are they formed? Why should they not be wasted?

Q7. Write answer of the following questions: (any 5) 4x5=20
1. Draw a diagram showing different zone of a candle flame.
11. Only plant can synthesize food why?
1. Give two examples of each of the following :

a. Muscular force
b. Frictional force
c. Gravitational force
d. Electrostatic force
1v. Rajesh bought a bottle that was labelled water as distilled water. He had some doubts about it.
Draw and explain what tet he could use to solve his problem.

V. What are the causes of over utilisation of natural resources?

V1. Mention the function of : a. Cell membrane b. Chromosomes
Q8. Draw a well labelled diagram of Plant cell and Animal cell. Also colour it. (5)
Q9. Explain 4-R approach. (5)

Q10. Write 5 properties of a good fuel. (5)
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P.S.M WORLD SCHOOL
WORKSHEET
CLASS - VIII
SUBJECT - G.K.

Q1. Read the passage carefully and answer the following questions. 5)
The Japanese sprinter Hidekichi Miyazaki holds the 100 metre world record for centenarians at 29.83 seconds.
Closing in on his 104th recently, he has thrown the challenge to the world's fastest man usain Bolt, whose world
record is 9.58 seconds. He plans to wait another 5 years for this dream race. In the meantime he keeps his
dream alive by remaining in top shape by staying disciplined and healthy. His only indulgence is a daily dose of
Tangerine gem which his daughter has made for him.

Miyazaki was born in 1910, when the Titanic was still being constructed. He is 5 feet tall and weighs 42 kg.
When he eats, he chews every mouthful of food 30 times before swallowing as that keeps his tummy happy and
his body running, he says.

Miyazaki hails from the tea growing prefecture of Shizuka located 200 km from Tokyo. He took up competitive
running at the age of 92 after watching old people's sports day.

1. The Japanese Runner Hidekichi Miyazaki holds.

a. Record for his age b. The 100 metre race record for centenarians
c. The world record for chewing his food d. The world record for challenging usain bolt
2. The exact age of Hidekichi Miyazaki is.
a. 92 years b. 100 years
c. 105 years d. 104 years
3. Miyazaki was born.
a. In the year of the Titanic b. One year after Titanic was constructed
c. In1911 d. When the Titanic was being constructed
4. He has thrown the challenge to the world's fastest man Usain bolt, whose record is.
a. 29.83 seconds b. 5.98 seconds
c. 28.93 seconds d. 9.58 seconds
5. The act of doing something that pleases a person is.
a. Challenge b. Indulgence
c. Swallowing d. Constructed
Q. 2 Series completion 5)
i.  5,13,37,109,

. 83452791, 3452791, 345279, 45279,
. 1,3,4,8,16,31,59,114,

iv.  54,36,18,

v. 9528, 8576, 7719, 6948, 6254,

Q3. Coding-Decoding &)
1. Which of the following words is represented by the code 'pmmdmwug'?
a. IRREVERSIBLE b. ATTITUDE
c. POSSIBLE d. DUPLICATE
2. In the certain code, TOGETHER is written as RQEGRJCT. How can we write PAROLE in the same code?
a. FHTYUI b. MWLOPD
c. NCPQIG d. DHISAB

3. If DELHI is coded as 89742 and MUMBAI is coded 606132, how can we code BADLI?
a. 13872 b. 74840



c. 18327 d. 27831

4. If the code number for the word DIG is '20', what code can be given to the word BAG?
a. 8 b. 12
c. 10 d. 14

Page 2

5. If 'kim ma pro lu' stands for 'Rajan gets birthday gift' ; 'dan lu pro hj' stands for 'Tahil gives birthday gift' and

'im ri dan' means 'Bisht gives nothing', then 'gives' stands for?
a. Pro b. dan
c. Kim d.ri

Q4. Tech savvy

1. What is the addition of 101010 and 111111?

a. 1101001 b. 1001001
c. 1111001 d. 1100001
2. HTML is used to create
a. Machine language program b. High level program
c. Web page d. Web server
3. The full form of DBMS is
a. Data management system b. Database manage system
c. Database management system d. None of these

4. Duplication of data is known as
a. Data inconveniency b. Data inconsistency
c. Data repentance d. Data redundancy
5. Which one of the following is NOT a valid type of networking?
a. LAN b. MAN
c. VAN d. All are valid
QS. Knowledge Scoop
1. In which units is the processing speed of a computer measured?

a. Bytes b. Bits

c. Hertz d. Seconds
2. Which is the executive body of the UN?

a. General Assembly b. Security Council

c. Trusteeship Council d. International Court of Justice
3. Who has written the book 'ignited Minds'?

a. R.Venkataraman b. K.R. Narayanan

c. APJ Abdul Kalam d. Shankar Dyal Sharma
4. Name the first Indian who get an Oscar Award.

a. A. R Rahman b. Bhanu Athaiya

c. Amir khan d. Dilip Kumar
5. Where is the longest railway platform located in India?

a. Kharagpur, West Bengal b. Gorakhpur, UP

c. Bilaspur, Chhattisgarh d. Kollam, Kerala

Q6. Scientific reasoning
1. Which of the following is not a property of metals?
a. Sonorous b. Brittle
c. Lustrous d. Malleable
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2. Which of the following is the most reactive metal?
a. Magnesium b. Sodium
c. Mercury d. Siver

3. Which variety of coal has the maximum carbon content?

a. Lignite b. Bituminous
c. Anthracite d. Peat
4. Which among the following is a soft metal?
a. Potassium b. Nickel
c. Calcium d. Aluminum

5. Mr. Arun is a pisciculturist. He is engaged in rearing of

a. Honeybee b. Milch animals
c. Sheep d. Fish

6. Which part of the cell can be called 'the brain of the cell'?
a. Cytoplasm b. Golgi bodies
c. Nucleus d. Mitochondrion

Q7. Match the following microbes with diseases caused by them:

A B
a. Virus Malaria
b. Bacteria Hepatitis
c. Protozoa Typhoid
d. Fungi Rust of wheat

Q8. Current Affairs
2024 Paralympics to be held in which city of Europe?
Who inaugurated Octave 2023 in Thanjavur?

Who won the Adelaide International 2023?
Which organization publishes the Global Risks Report 2023?

AR SR IR A

Which organization publishes the Food Price Index (FFPI)?
10 In which state has the Parshuram Kund Festival started?

Q9. Write the paragraph on any one topic.

1. Value of Discipline 2. Republic Day 3.Importance of Education

Which Union Ministry is organising the ‘Startup India Innovation Week’?
In which country will the first underwater metro start by December 2023?

In which state did the Khelo India National Women Kho Kho leagues commence?

How deep will India send three people under the Samudrayaan Mission?
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P.S.M WORLD SCHOOL
WORKSHEET
CLASS - VIII
SUBJECT - SOCIAL SCIENCE

Que-1 Who was the first trader to discover a new sea route to India?
Que-2 Indian reformers led the major protests against the
Que-3 What is land use pattern.

Que-4 When did the Indian constitution come into force?
Que-5 Where does president of India live?

Que-6 What is importance of judiciary?

Que-7 List any two ways in which the British rule affected India economically?
Que-8 Explain the First Carnatic war.

Que-9 Why did British start opium Production?

Que-10 List Any two man -made resources?

Que-11 Name the lower and upper house of parliament?

Que-12 List any two importance of judiciary?

Que-13 How can we ensure independence of judiciary?

Que-14 When did modern period begin?

Que-15 Explain the 'Rule of Law' introduced by the British.

Que-16 How is water called renewable resource?

Que-17 Distinguish between metallic and non-metallic minerals?

Que-18 Minerals are very important to use why?

Que-18 Match the following:

Column A Column B

1- Shelter a- Conservating of forest and wildlife
2-Bioreserves and national park b- weathering

3-Soli formation. c- conservation of water

4-Water harvesting d-29%

5-Total land area on earth e- soil conservation

Que-19 Differentiate between subsistence farming and commercial farming.
Que-20 Tick the True or False.
i.  The high court is the highest court at the district level.
ii.  The Supreme Court interprets the constitution of India.
iii.  Everybody in India has access to court.
iv.  Nyaya panchayats provide justice at district level.
v. Lok adalats provide quick and speedy justice.
Que-21 Explain the main features of permanent settlement?
Que-22 How was Punjab finally conquered?
Que-23 What do you understand by the system of 'subsidiary Alliance'?
Que-24 Mention and explain different ways of conserving power resources.
Que-25 Write Short Note on the followings:
a) Type of Soil b) Judiciary
Que-25 How is forest Fire caused? List out 6 steps to prevent forest fires.

(1
(1)
(1
(1)
(1)
2)
)
2)
2)
)
)
)
2)
3)
3)
3)

)
)

)
)

)
(6)
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6x2=12
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